Project Project_GaussJordan.dpr 

1. You have to finish the project for solving a system of linear equations using the Gauss-Jordan elimination. The code insert into the procedure Tform1.Button3Click  (button Solving the system). 

2. Dynamic arrays a, b, and x are globally dimensioned,  where 

· Coefficients of the system are in thje array a consists of m rows and n+1  columns

· Number of rows with pivot elements will be in the array b. If the row i consist only from zeros, set b[i]:=-1.

3. To the vector of variables x do not write anything.

4. If the pivot element is in the column n+1, set nemaRies := true;

5. Example of matrix for reading from the file:

System of linear equations
Text file with matrix
5 3

5 –2 3 10

-5 0 8 40

-3 6 1 20

6 6 –2 30

0 2 10 50

 5a11 – 2a12 + 3a13 = 10


-5a21        + 8a23 = 40


-3a31 + 6a32 +  a33 = 20


 6a41 + 6a42 – 2a43 = 30


        2a52 +10a53 = 50








